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1.
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1. H& O/ amdn 9 Il JWIshH DHgelldl 1.  Inflorescence growing directly from a

3. woody trunk is called :
(A) MRS (A) Terminal
(B) P& (B) Axillary
(C) eI (C) Cauliflorous
(D) Sugad FHI (D) All of the above
2. ARG W G1AT S drelT 91T © 2. ‘Juicy placental hairs’ is the edible part of :
(A) 3T~ DI (A) Pineapple
(B) g T ®el &1 (B) Citrus fruits
© 9 P (C) Apple
(D) SR D1 (D) Pomegranate

3. U9 @I 98 < o JBeR U9 S 3. When there is some short of barrier

& T WOREOT A G B L e § between stamens and pistil of the same
flower, such condition is called :

(A)  FHSTAYTIA (A) Homogamy
(B) STIGTORITYT (B) Cleistogamy
(C) EHARIIWRFTIT (C) Geitanogamy
(D) fA=Tafca (D) Herkogamy
4. ydar gam o o g 4. ‘Protandry’ condition occurs in :
(A) Dol H (A) Banana
(B) TAIGTS! H (B) Avocado
(C) 3IRIC H (C) Walnut
(D) 3Fegar # (D) Plum

Ag-1004 (3) Set-B



EGRIRERCICRUG T I GRU G

(A) S BT Tetary well & ford
(B) SUWT HicTe Tearg Beall & ford
(€) AT Seary Bl & ford

(D) Y TIeldry Hell & ford

‘Y T WIR' Bl ST ey
ST g ¢

(A) S U4 IUWT Hicadd Tear
(B) A Ud IUWT Hicaedd Serary

(C) W By Ud &b Tefary

(D) ¥l UPR DI SHefdryg

TARHE U BT TR W T ®N A

RIMIIRT HRAT BEATT ¢
(A)  FEHRT
(B) foRelmur
(C) YU

(D) Wdel fdBrad

Ag-1004

(4)

The ‘chilling requirement’ is necessary

for :

(A) Tropical climate fruits

(B) Sub-tropical climate fruits

(C) Temperate climate fruits

(D) Arid climate fruits

Suitable climate for production of Peach

and Strawberry fruits is :

(A) Tropical and Sub-tropical climate

(B) Temperate and sub-tropical climate

(C) Tropical and Arid climate

(D) All type of climate

The transferring of young seedlings into

another bed is termed as :

(A) Hardening

(B) Thinning

(C) Pricking

(D) Mulching

Set-B



8. v @I fod ugld H TfeR wgfr &1 8.
qorTT # 15% 31 Ui M B § 7

(A) TITGR ughd
(B) WEHGIHR Tgfd
(C) TP ughd
(D) F vl
9. Dol B JEEH  FART  wr 9.
g
(A) o< o

(B) SFTAEIN ¥
(C) Ydh=< A

(D) ®< A

10. TR & Booll T At S1o=Rl Wil & 10.

(A) R H

(B) S 3

(C) weqd d
(D) Sugad a4 o

Ag-1004 (5)

The planting system which
accommodates 15% more plants than

square system is :

(A) Rectangular system

(B) Hexagonal system

(C) Filler system

(D) Contour system

Banana is commercially propagated

by :

(A) Corm

(B) Suckers

(C) Rhizome

(D) Tuber

‘Ring Budding” method of propagation is

applied in :

(A) Ber

(B) Peach

(C) Mulberry

(D) All of the above

Set-B



11.

12.

13.

14.

HeraET @ 5 A § 7-10 T R
YA SYART H oIl oI § 7

(A) g IT HeHeeT

(B) TR Ferse™

(C) WigR Ferae

(D) M HelHEE

FRIGT B G G © -
(A) FRRCH!

(B) TR

(C) ST

(D) TR

W-RATOT HI GEIdT USH xR+ drell

PRSP B

o Rrifre vl afg e Tl W) & -

(A) 3me A

(B) 3fegam |
(C) Qo
(D) Sugad a4 o

Ag-1004

(6)

11.

12.

13.

14.

In which method of grafting 7-10 days

old root stock is used ?

(A)
(B)
(©)
(D)

Soft wood grafting
Veneer grafting
Epicatyl grafting

Cleft grafting

‘Custard Apple’ belongs to family :

(A)
(B)
(©)
(D)

Myrtaceae
Annonaceae
Bromeliaceae
Apocynaceae

Choose the factor which is favouring self-

pollination :

(A)
(B)
(©)
(D)

Chasmogamy
Dichogamy
Herkogamy

Homogamy

‘Double sigmoid’ fruit growth curve

occurs in :

(A) Peach

(B) Plum
(©)

(D)

Apricot

All of the above

Set-B



15.

16.

17.

18.

Ul ARAANT aRAfad A9 & 15.

(A) | BT
(B) ¥ @
(C) DI BT

(D) 3ifdel B

qEYfdS YR B g9 @I fhg fafy o 16.

G AR G BT ST A S
g 7?

(A) RITTE

(B) <rell <

(C) drg <Iq

(D) @[ <9

TR BT ATIRARID YRIROT BT © 17.

(A)  SURHEIRI R
(B) IFYENI NI
(C) ¥R R

(D) RIS &I

ffaRad & & dH-T1 < g™ yiRa 18.

g © ?

(A)  3ficf
(B) e}
(C) e

(D) ST W

Ag-1004 (7)

Aegle marmelos is the botanical name of :
(A) Ber

(B) Beal

(C) Wood apple

(D) Aonla

In  which ‘Layering’” method of

propagation Sphaghum moss grass is

used ?

(A) Tip layering
(B) Mound layering
(C) Airlayering

(D) Trench layering

‘Strawberry’ is commercially propagated
by :
(A) Runner

(B) Sucker
(C) Stolon

(D) Offsets

Which of the following is propagated by
tuber ?

(A) Potato

(B) Dioscorea

(C) Caladium

(D) All of the above

Set-B



19. W /3Ms. 4. U g9 | grar € ¢ 19.

(A) e
(B) WIECIBEHA
) forafer
(D) e

20. ®rc-Bic ol b4 R 4, el 9&7 & B 20.

& H WIS BT ThATBROT Bl & 2

(A) detgd
(B) fdueq
(C) TTHARY
(D) ST W

21. YUFS U4 Wedh G Wha ol T 21

fohsT T & FH B BRI BT € 7
(A) &

®) ff®

(C) 3R

(D) P

22. fNi®d d@ & dA IR dxd drer 22

YA Ul B
(A) W
(B) W@
(C) 3ferl
(D) S Fow

Ag-1004 (8)

Rootex/IBA hormone contains :
(A) Auxin

(B) Cytokinin

(C) Gibberellin

(D) Ethylene

Which method of pruning is adopted for
accumulation of carbohydrate in fruiting

zone of the plant ?

(A) Ringing

(B) Stripping

(C) Girdling

(D) All of the above

Little leaf and white bud of corn disease
is caused by deficiency of :

(A) Iron

(B) Zinc

(C) Boron

(D) Calcium

‘Indicator Plant’ for zinc deficiency is :

(A) Oats
(B) Maize
(C) Flax

(D) Sugarbeet

Set-B



23. Y BEME B 23.

(A) 3fifdeT
(B) NTSCIHIEH
(C) TRl
(D) Suda Wl

24. ‘Tl NG’ P BRI § 24,

(A) IR 3

(B) el

C) IR ot Td gl <Ml
(D) SWw # ¥ P T

25. W§ U9 B3 Bl @Wg H THH, BRORY  25.

U9 Urere ferd A Bl ©
(A) 2-4-6
(B) 4-6-4
(C) 5-4-2
(D) 3-1-2

26. ffeiEd &0 @re arell ®aell 4 ga1 4 26,

AHTH T ReRigRor (3T 8) &=
qrell B & -

(A) T
(B) TTg

(€) TR
(D) 3

Ag-1004 (9)

Gaseous hormone is :
(A) Auxin

(B) Cytokinin

(C) Ethylene

(D) All of the above

‘Leaf Abscission’ is caused by :

(A) Abscisic acid (ABA)

(B) Ethylene

(C) Both Abscisic acid and Ethylene
(D) None of the above

Sheep and Goat manures contain

.............. % NPK respectively.

(A) 2-4-6
(B) 4-6-4
(C) 5-4-2
(D) 3-1-2

Which of the following green manure

crop can fix maximum nitrogen/ha. ?

(A) Dhaincha
(B) Sunhemp
(C) Cluster bean

(D) Cowpea

Set-B



27. f=foRed »RORIGYN]  Saxadl  §  27. Choose the best source of phosphorus

T e T nutrient from the following manures :
(A) 9Bl W@ (A) Fish meal
(B) T W@ (B) Blood meal
(C) g@@ﬁ LCI (C) Bone meal
(D) HN @ (D) Meat meal

28. ‘UMIFIH BIhe’ IND H HREHNT Pl 28. ‘Ammonium  Phosphate’  contains

e phosphorus :
(A) 15% (A) 15%
(B) 20% (B) 20%
(C) 25% (C) 25%
(D) 30% (D) 30%

29. SR, fH $H-9-59 <1 G UG dcd 29. Fertilizer which contains at least two

major nutrients, is known as :

BId €, BN &

(A) TR IRE (A) Straight fertilizer

(B) oI SRS (B) Complete fertilizer

() B SiR® (C) Mixed fertilizer

(D) 3ifie /e SaR® (D) Complex/compound fertilizer

Ag-1004 (10) Set-B



30. fa=foRed & 9 oF-w1 THdoIA B

Tl B ?

(A) &R
(B) g
(C) el

(D) I~

31. ffcifEd § & SF-91 39 %ol 998

g7
(A) 3RS T 3T

(B) 3fefal Td Gl
(C) Y TG AT

(D) dIeH Tq RIS

32. ‘GIRY Bl F H ¢ :

(A)  UTHIETAT
(B) HXI¥l
(C) anfercxh
(D) Jifaicired!

Ag-1004

(11)

30.

31.

32.

Which of the following is not a

monocotyledonous fruit ?

(A) Datepalm

(B) Peach

(C) Banana

(D) Pineapple

Which of the following groups is false

fruit group ?

(A) Guava and Peach

(B) Plum and Apricot

(C) Apple and Pear

(D) Almond and Walnut

Star fruit (Averrohoa carambola) belongs
to family :

(A) Anacardiaceae

(B) Caricaceae

(C) Oleaceae

(D) Oxilidaceae

Set-B



33.

34.

35.

Ag-1004

frfoRad Bel # We1 R Bl 2

(A) B
(B) el
(C) g

(D)

fFefoied & 9 ®F-A ®dl Abifdd
I el § ?

(A) o=

(B) 3™

(C) 3T

(D) 3R

SUH Ao @ B 98 A o fb el
qlel & IeUred | FRYd

(A) TEIcl

(B) TARIGwR

(C) 3MeRIpeaR

(D) B

(12)

33.

34.

35.

Which of the following is the oldest

fruit ?

(A) Datepalm

(B) Banana

(C) Apple

(D) Mango

Which of the following is a non-

climacteric fruit ?

(A) Litchi

(B) Mango

(C) Guava

(D) Fig

Ornamental plant production comes

under horticulture branch :

(A) Pomology

(B) Floriculture

(C) Olericulture

(D) Sericulture

Set-B



36.

37.

38.

39.

‘ST Bdider’ U JEIRd & T

2

(A) 3. T 3R, TS, gRI
(B) IS, 3. Ud. IR, §NT
(C) 3rs. 1. T 3R, gNI
(D) S, TR, VA T, G

iAo Bell BT T HEATT ¢

(A) 3
(B) 4
(C) Idl %l

(D) 3T

Al BT @ 9 dTel 9 R
(A) T

(B)

(©) e

(D) gred
“SRIGSTAr U Sl @

(A) @cgd H

(B) 3F%E H

(C) X #

(D) ¥ H

Ag-1004

(13)

36.

37.

38.

39.

Journal ‘Indian Horticulture’ is published

by :

(A) 1ARI

(B) HHR

(C) ICAR
(D) ISHS

‘King of Temperate Fruits’ is called :
(A) Mango

(B) Apple

(C) Kiwi fruit

(D) Peach

The edible part of Litchi is :
(A) Pericarp

(B) Kernel

(C) Al

(D) Thalamus

‘Vivipary’ is observed in :
(A) Jackfruit

(B) Guava

(C) Ber

(D) Bael

Set-B



40. USIR T WU Y A B o ST 40. Mulches are mainly used to reduce :

foam STTe 2
(A) TS B (A) Transpiration loss
(B) dTHIRYT g1 (B) Evaporation loss
(C) TTTH-So &I (C) Evapo-transpiration loss
(D) Sugad FI (D) All of the above
41. “URYFd VS’ HEAd § 41. ‘Ripened ovary’ is called as :
(A) W (A) Flower
(B) Wd (B) Fruit
C) 9 (C) Seed
(D) oo (D) Embryo
42, ‘gadiEd ey g wu A B R 42. *Chilling injury’ is common in :
(A) AT B § (A) Temperate fruits
(B) W Tl i (B) Tropical fruits
(C) SU™ Bl H (C) Sub-tropical fruits
(D) 9T Td SU®T Bl S H (D) Both Tropical and Sub-tropical

fruits

Ag-1004 (14) Set-B



43. Uyl ¥ R T faf3d e dren 43. Hormones which control/inhibit apical

S S dominance in plant is :
(A)  affaror (A) Auxins
(B) =i 3t (B) ABA
(C) frsifer (C) Gibberellins
(D) TSP (D) Cytokinins
44, AR 44, “Citrus’ is a :
(A) T B (A) Berry fruit
(B) UM Bd (B) Pome fruit
(C) U e (C) Drupe fruit
(D) Suga H A Bl el (D) None of the above

45 f=fofRea § 9 o8- mﬁ{&rq' ol 45.  Which of the following is the example of

xerophytes ?

SR & ?

(A) el (A) Banana
(B) 3T (B) Peach
(C) « (C) Ber
(D) udldr (D) Papaya

Ag-1004 (15) Set-B



46. “UTATSTSN’ Sred @) ST gé % : 46. The term ‘Pomology’ is derived from the :

(A) olfes 7 9 (A) Latin word
B) W =< A (B) Greek word
(C) 3o I ¥ (C) English word
(D) WRRF vI< 3 (D) Persian word
47.  JFfpaq faema=-a I Hdl 2 47.  Maximum ‘Vitamin-C’ containing fruit is :
(A)  3ifaeT (A) Aonla
(B) 3IANG (B) Guava
©) RIS NI (C) Barbados cherry
(D) HS A (D) Sweet cherry

48, T3, A1 9. AR, § ufq fdd ufafes wd 48. ICMR recommends the use of fruit per
P T P capita per day is :

(A) 80 I (A) 80g
(B) 120 UM (B) 120g
(C) 280 M (C) 280¢g
(D) 300 I (D) 300g

49. IO9M FHT H §ET Wl § sl 29 ¢ 49. At present, leading countries in protected

cultivation are :

(A) FoRTE T4 faw (A) Israel and Egypt

(B) T TG HTal (B) Spain and Canada
(C) TN U4 SaH (C) Chinaand Japan

(D) 3MR®T T $7eivs (D) U.S.A.andEngland

Ag-1004 (16) Set-B



50. ‘oligl’ @l g 9 2 50. The rich source of ‘Iron’ is :

(A) <l (A) Litchi
(B) STERIC (B) Walnut
©) L2 (C) Wood Apple
(D) dRIaT () (D) Karonda (dry)
51. X9 & dA-A1 I=g GuadT uefd H ufd 51. In which High Density Planting (HDP)
TR S 3 AT B &7 system maximum trees/ha. occur in ?
(A) ¥EH ST geeal Ugid (A) Medium HDP system
(B) 3ol Ied FETdl Ughd (B) Optimum HDP system
(C) Wer JfafeT Swa wewar ugfa (C) Meadow orcharding HDP system
(D) SWE ¥ | TS el (D) None of the above
52. ol g IMh Bl REATHD  HIOH - Dal 52. Fruits and vegetables are known as
I R, F®ifp A TS 3 protective food because they are rich in :
(A) BERERESS T UeH (A) Carbohydrate and Protein
(B) WIEH TG oM (B) Protein and Fiber
(C) faarf=7 v @fer ofau (C) Vitamins and Minerals
(D) T UG QST aau (D) Fatand Minerals
53. W@H/W ol Bl ISTEN B 53. The example of composite/multiple fruit
is :
(A) INIH (A) Custard Apple
(B) 379~ (B) Pineapple
(C) (C) Strawberry
(D) A (D) Apricot

Ag-1004 (17) Set-B



54. ‘ﬁftﬁﬂ'l'qﬁ?ﬁ’ Dl DI B % : 54.  Fruit belonging to ‘Apocynaceae’ family
iS:

(A) Tk (A) Papaya
(B) Nig (B) Karonda
(C) Wgqd (C) Mulberry
(D) IGI (D) Aonla
55. ‘fAf3rd Wor’ Uil Sl ® 55.  Mixed bearing habit occurs in :
(A) 9 T &t o (A) Citrus fruits
(B) HE Wl H (B) Star-fruit
(C) IR ¥ (C) Pomegranate
(D) Sy |4 o (D) All of the above
56. YRd # Bl g MhIYTGH @ ol 56. The leading fruits and vegetables
7§ producing states in India are :
(A) 3T U9 T4 Uf¥gHr ST (A) Andhra Pradesh and West Bengal
(B) BRI Tq 4o (B) Haryana and Punjab
(C) ToRId vd 4R (C) Gujarat and Bihar
(D) @R U4 el (D) Kerala and Tamil Nadu
57. SR UM W S 9Tl Ulel SEr © - 57. Plant which grows on another plant is
called :
(A) LTE (A) Pterophyte
(B) ferawrge (B) Lithophyte
(C) gdmwrge (C) Epiphyte
(D) SUYa H A Bl 7l (D) None of the above

Ag-1004 (18) Set-B



58.

59.

60.

Ag-1004

go’ HUTIRT BU & :
(A) T @

(B) TH @I

(C) et @I

(D) ©fs @l

qw, o gaeR vd Eee 3 e g,
HE & :

(A T

(8) fafert g

(C) el g

(D) Suda Wl

WA BY 4 WEAG G SR o
IRieTI 6 U5 B @ |

(A) TRFTT

(B) W&

(C) W

(D) SUYa H A Bl 7l

(19)

58.

59.

60.

A ‘Rhizome’ is a modified :

(A) Leaf

(B) Stem

(C) Bud

(D) Root

Flower having both stamens and pistil is

called :

(A) Perfect flower

(B) Bisexual flower

(C) Hermaphrodite flower

(D) All of the above

The transference of pollengrain from

Anther to Stigma of the Pistil is known as :

(A) Pollination
(B) Pollinator
(C) Pollinizer

(D) None of the above

Set-B



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & ¢
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @18 A WG B, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e H dN-ga, deldeicy, Yok a2l Heger
B of ST T SHBT START BRAT i ¢ |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WUARYT & AR BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o

2y
i3
E
oy,
a,
j
8
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